BHELL B EUNETER
KEDEILERFEANLTLES L,
HEBEHRHE: OO
148 248 348 458 548 648 748 848 958 1048
HE FHRM
S8 (TA) |28 (TA) |28 (M) |28 T |28 A |28 T |28 ) |28 FM) |28 (FM) |28 (M)
[EE 324 A 66,000
BERYFEAZEOWEINE a=0—-@ 7,000 7,000 7,000 7,000 7,000 7,000 7,000 7,000 7,000 7,000
RIS AR OBERILYTIE @ 7,000 7,000 7,000 7,000 7,000 7,000 7,000 7,000 7,000 7,000 BAEROFHE(MEISM, k g x 5541 E200,000kg,
BB O E AR ® 0 0 0 0 0 0 0 0 0 :;ifif:‘“fgfm/ kg xFoHE0000ke. FHRMASIS FROKE,
EEREYOZARMNIHE S FEE OEINE b=0-® 0 0 0 0 0 0 0 0 0 0
BRFUAROELEEYUEETS ® 50,000 50,000 50,000 50,000 50,000 50,000 50,000 50,000 50,000 50,000 7 ¥ FE )5 A B 50/ /kg x 2 A E1,000,000kg
o RIS AROELESYNBEELS @ 50,000 50,000 50,000 50,000 50,000 50,000 50,000 50,000 50,000 50,000 iii%szﬁﬁwﬂ/kg *ZAR1,000,000ke. EARMIEHH S FEOKM. FAll3
ZofoMEOMEINE (Gl % HERICEH) c=®-® 0 0 0 0 0 0 0 0 0 0
BRIFHEARD Z O OF ®
BRIFHAR O Z O OF 2 ®
i 7,000 7,000 7,000 7,000 7,000 7,000 7,000 7,000 7,000 7,000
EEREYONEBEICET 2 FRREOHIE d=0-® 11,000 11,000 11,000 11,000 11,000 11,000 11,000 11,000 11,000 11,000
RIS AROELESYNBEETIET IRE @ 11,000 11,000 11,000 11,000 11,000 11,000 11,000 11,000 11,000 11,000 iii%z%jﬁi%ﬁ@ﬁm * EHR200000kg, FEHMEHH 5 FRORM. FR
RIS AROELESYNBEETIET IRE ® 22,000 22,000 22,000 22,000 22,000 22,000 22,000 22,000 22,000 22,000 iii%z%jﬁi%ﬁ@ﬁm * EHRA00,000kg, FEHMEHH 5 FRORM. FR
ANEEORDE e=9-® 3,500 3,500 3,500 3,500 3,500 3,500 3,500 3,500 3,500 3,500
BIFEABOANSE ® 3,500 3,500 3,500 3,500 3,500 3,500 3,500 3,500 3,500 3,500| A\EZE@3500F A% 14
ESCEIN:[oVNES ® 0 0 0 0 0 0 0 0 0 0| AFE@3500F M x 04
KEBEDOHAE =0-®@ 960 960 960 960 960 960 960 960 960 960
fﬁ B INE TP Y @ 960 960 960 960 960 960 960 960 960 960| ERT7 3B 1512 75 % & 18 5E = B 40kw*25F3/kwh*20day*127 A
il
;;% BE YNGII2P @ 0 0 0 0 0 0 0 0 0 0| BRAF & {07 b 4 K 0 EHfEfE
FiWICR 2 HEREOROE ¢=0-® 50 200 0 200 200 0 200 200 0 200
RIFGAROEERE ® 50 200 0 200 200 0 200 200 0 200| ETFRRAB DS 7 2 & B E= B
BRIEFATOEHERE ® 0 0 0 0 0 0 0 0 0 O| AFRMFEOSI b FEOERYME =0
ZotoT vy =v /AR MEDE h=B-® 0 0 1,000 0 0 1,000 0 0 1,000 0
RIFGANEOZOMBOT =7 b ® 1,000 1,000 1,000 BEICIEDER A >~ 7 F >~ AEA1,000FH
RIFSAFOZOMBOT =7 b ®
i 6,490 6,340 5,540 6,340 6,340 5,540 6,340 6,340 5,540 6,340
& F 13,490 13,340 12,540 13,340 13,340 12,540 13,340 13,340 12,540 13,340
2 5 13,490 26,830 39,370 52,710 66,050 78,590 91,930 105,270 117,810 131,150
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